22 FithE=

_ (& E)
BERE Bk 2% 1B
ZWE |1 28.7 i 3R
FER | 2 25.0 %
HEEER |3 223 Y
BEE | 4 21.0 o
mARE |5 19.8
EHE | 6 18.7 .
EEE |7 17.4
PR |8 17.2
FENE |9 17.1
EHE |10 16.3
REKE |1 15.9
TR |12 15.3
dtBEE |13 14.7
EWWE |14 14.0
;ﬁl E,f%% EE 15 13.9
EREIE | 16 13.4 (B - %)
HEER |17 13.3
Iz 8 | 18 13.2 .
*ﬂ EEI ,E\ 19 13.0 12~16
£ H = 12.3 8~12
RIBE |20 12.3 ~8
BEERE |21 11.8
BER |22 10.9 _ _
=ZER | 106 | B & I8 &= | Bfu| = [ Bl | BG |
AR |24 10.3
=2F R 10.1
| S EE 26 100 EEiap ki 45,930 351 | 38
EHE |27 98 |=w0
Mg | 28 9.7
ZTEE |29 9.4
B EE |30 9.1
EER |30 9.1
Ko B |30 9.1 |pbmEsEcEEm) ki 3,106 19 39
= IFE |33 89 |
HE)E | 34 84 |cvmi=azns
EHE |35 8.2
A E|E |35 8.2
mE R |37 75
fILE | 38 7.4 |BHeEE(E) kmi 24,960 242 35
KB ARF |39 73 |E=E®
W& R | 40 6.9
B8 |40 6.9
ZRE |4 6.1
ERE |43 5.7
I E |44 5.6  |#bmEsEom ki 20,970 109 32
Iy B I8 |45 55 =%
=R |46 4.0
BHEE | 47 35
B {57 — %
OF W A& : #hhmEmiE-LmEiE
Ol & W A : FR22E78158
O # B i : BMKEATHECEMAEEHKET




Fith

(B I 2
HHh 3

Hih BT A |IEGI] %% {E
BTy - 10.0
mE | — 12.2
B B | 9.3
KFm| 3 230
BEam| 7 14.4
mEE M| 8 13.5
A F | - 8.9
A EHET| 13 7.3
= ARHET |19 1.7
% GEHET| 18 25
J\ BB BT | 12 8.8
(B3I %) = &R BT | 16 35
SERUERT| 6 171
20~ = H T 5 20.6
E e dtEET| 1 388
~4 BEEW| 2 344
KILET| 4 21.2
R ET | 10 10.8
BMEHBR| 9 12.0
HEHE |15 45
B %5 | 17 3.1
LA BT [ 14 6.1

B I — %

RA DDA R LE

BiEw T
5.4%

2.5%

gLkl
23.3%

68.8%

OF 1 & : #HEE-HERE

O & B 5 : (D F)FR2257A15H
(HE)TEF22410818
OF # H BT : (D F)BRMKER#h R U/EmiE#HE)
(HEHE LR EE E L B2 E40E TR v X B4 B miEs )




